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Unit 5: Analytic Trig Review ) Date
Solve each equation.
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Prove each trigonometric identity.
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Solve each triangle.

4. A Lawof Sines

30) B=82°b=17,c¢= 15 31) ¢ = 36%a= 17, c=16 A
| sin82° sinC 7\ Sin 3l zf%l_fj‘;ﬁ
\n AT 5 ¢ ’
b 4 o LLC %O ,Oi \Nhﬁﬁ 4 P\' i a(yji’, ‘,.l_;
e 37. ID '7\'/56"-' |
sin%2° _sinh f % LR ) |
7 o | @=10,30 | L K5 A
b % 26,95
3in36°_sin®
n b
32) A=73°a=24,b=28 33) a=14,b=17,¢ = 25
; B _
8\(\730 =$_Lrl..- |L\ +\"} 2(-1.;‘\ ‘-‘U "0.,
an 2 36
not Poss\b\e, @5 19—\ ) _ Cos 0
20—
'AC, 22 \0'1 ol‘-‘\
7%= |u"+7—5 ~2(14)(25)CoSP
NE-NE-25"_ (0 B
=2 (M) (29) ——
6 R40,5"|
X @%ﬁ
34) a=12,b =15,c = 28 35) A=50°b=8c=6
el a*= g T+t ~2(8)0) cOS DO
NoY 'Po&S\ vle o
o % L9 )
> 005 C
OHLF = 07—_}—8 o ’0\\0{‘5\
A(‘,%‘H 947°
LB TA03D




